GUESS PAPER - 2008

Class - X

SUBJECT – MATHEMATICS

Arithmetic progression and Probability

TIME :-1 HR                                   




MAX MARKS:35                            
1. If a2,b2,c2 are in A.P.than prove that  1 / b + c , 1 /c + a , 1 /a + b are also   

                        inA.P.                                                                                       2

2. The 8th term of an Arithmetic Progression is 37 and its 12th term is           3

                         57. Find the A.P
3. A card is drawn from a well-shuffled deck of 52 cards. Find the probability of    4 

     ( i ) A jack, queen or a king.    ( ii ) A face card.     ( iii ) Neither an ace nor a king. 

     ( iv ) Either a black card or a king.

6. Show  that a-b, a and a+b form consecutive terms of an A.P. (and)     3

     The first term of an AP is 5 and its 100th term is -292. Find the 50th term of this AP.

7.The first term of an A.P. is 5 and its 100th term is –292. Find the 50th term of this  AP 3
8.    The 8th term of an Arithmetic Progression is 37 and its 12th term is 57. Find the A.P        

                                                                               3
9. Find the probability of getting 53 Fridays in a leap year.          

                                   2

10. A bag contains 12 bal ls out of which x are white.                                                       5

a)If one ball is drawn at random, what is the probability that it will be a white ball?

b)If 6 more white balls are put in a bag, the probability of drawing a white ball will be

double than above. Find x.

11. Find the sum of all natural numbers between 50 and 500 which are divisible by        3

    both 3 and 5.

12. Determine the number of terms in the A.P.  3, 5, 7, 9, …, 201. Also find the 12th term  

    from the end.                

                         Or                                                    2

    Which term of A.P 17, 16 1/5,15 2/5, 14 2/5, … is its first negative term? 

13. A card is drawn from a well-shuffled deck of 52 cards. Find the probability of     5

     ( i ) A jack, queen or a king.    ( ii ) A face card.     ( iii ) Neither an ace nor a king. 

     ( iv ) Either a black card or a king.

